A sample of contingency table INCLUDEPICTURE "http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/NM?261" \* MERGEFORMATINET 


individuals is selected, and the individuals are classified according to their smoking habits and the smoking habits of their parents. The results are given in the  below.
Parents' smoking habits

	
	
	Both parents smoke
	Only one parent smokes
	      
Neither parent smokes


	

	Individual's 

smoking habits

	Smokes
	24
	30
	32

	
	Does not smoke
	19
	23
	24


Among all the individuals in the sample, what is the relative frequency of individuals who smoke and have two parents who smoke? 

Round your answer to at least two decimals places. 

